Seat No. :

OE-133

October-2019
M.Com., Sem.-11I
505 (EA/EE) : Corporate Fin. Reporting
(New Course)

—  Time : 2:30 Hours] [Max. Marks : 70
L (A) SMEZ AUl daiad] carval 2408 24A [ aHadl s d 514 u?t“sdk’l& “
14

87
o |
AL WAL Y04 2 - ’ \
(1) SR Alisly 2saianl qeel 3l \ & 7
(2)  SRZ USRSl 2l 7
(B) 65 WH M2 e [sedlmiadl il [@se A 4
(1) esld FMasdl b el sl
(A)  38lyddl
(C) HMdIEA

wrHIrA BE L1530 B
2 247 25l Huaell

(2)
(B) a5 A Wl

[@s1l M8l (D) Guz-lL wul
ARl 3L ARSI DAL AR QUL 5L S 2
(A (@14l (Faithfull) (B) el WaZls:et (Full Disclosure)

(C) dzadasl (Factal) (D) GurAl wul
ouadlu Gl Rauoll A2 ) Sl g1 R § 7
(A)  ouzdla sulaEt (B) el dzuil

(€) Feausal Wil (D) Gurdi Aul

Qi nied] 58 ArAdlAL 2l A aworoll vaie A M WAL YA 6 7
(A) bl Wl Al AL

B)  weradl ALz M

(€) e vfusildl g due sa

(D) Guz-l Al

(6) dll (SEBD 5.
A) o vuaud Rt (B) és sl

(C) s wsuUY (D) (AumsE ey

(3)

OE-133 PTC



sdlsruiAL @etgll L

- s a
3 (A) ROUA IR A QARDS waAls0L vzd 3 T RDU »

e Ul
vYdl

Q- UHAL VU AL ¢

(1) 54l UR1-2013A0 MRER-TIT 3oredl Agl--sdil-l etgedl Al AUR 6.

(2) Rl A RS VR U5 RAAL dglded Al

(B) €35 UM U e [Rseqniiall 1=l Qsey wrie 531 : (S15USL AR)

(1) Qws us w5 evi ourella Rayedl e (Ind.AS) A2 W61 6848 245
(A) ol [Ruell WRwL (Ind. AS)-7
(B) Rl [R5l QeI (Ind.AS)-08
(©) el [Rauedl vizel (Ind.AS)-10
(D)  otReld [Ruedl Wizl (Ind.AS)-12

(2)  AvULCHS U WAL AR B 2L 21 B 7

7

(A) RAsSUAs s A (B)" GLOLL UAll$ YAls
© yeuqladyis (D) Hird AL Redl
3) ARl WS ARSI s 2 2
(A), WlReerl 2R (B) [Rs2341 2Rl
(©) | luee] Rl (D) 2ufls yeu gl
@) MR MU SuAURL Horen i) sReu] 2 B,
(A R=eud
(B) Hmdld

(C)  RVAUA A MY vi
(D) izl kY R

) 4Rl o ugRe gl AL A o1 B,

(A)  BRe23A1 24Raue (B) e -l 2Reuey
©)  Rez) vReye (D) @Rl ol

— Ammyq WAZIsR0( 2],
(A) e N oy

© -i&l--i.,sum-iqu

(6)

(B) Wi§ Ay

(D) Rz +3el
OE-133



3 (A) ARSI WaASl Rgtia 8y MRellu Raedl WRE (Ind AS) ARLMY 6 7 drl a2l

i sl vgudl, ey ot Ruell HREL weret Astigle kbl s drl

¥HWAl, 14

AYqL
AR v ) : R A Q)

(1) A (@& R qw 1-04-2018 4L DAs U WRe, | HEINA AR 6 AN B.
QLRI % R 10% . 2iet RoIAL AL WY 6

WA, Q1d REH
L4
I [veterA s w1l 20 ysaa isu + dl 25,00,000
2 YRasH wy 2,00,000
3 sl sl Wl 5,00,000
4 1GeuEA 13 wul WAl SHUERI 4R b | 150,000
el I |
5 [ ol il eee v 2 1 11300000
6 M Ry vl | 750,000
T |5 4 sl A Al sl 2As00R v (s a9l | 3.00.000
YA T 1 | 10% AGER A Hen 0.565)

Gl Hleedl wrell ezl Raublh a8 16 ol Wadll ydlsrel sl 254
(Cost of Capitaligfions)=gsl 531,
@) ol & e e A8, 21 448 AL 1-04-1841 ey el W2 A

A% R B, & Biat: W 3R R B, o v

) HAAHLSMAA 2500 Bl wm Wla LRI o 27 AL Busid, 300 Bal aupt
228 Sonrtell wed sl oous 2l ¢dl, dudl oy 3l Al WedA B

TAM LS T 150 A o1 AA B, i Aol Byl 20 45l GAAA B,

UL Rl el 310320191 sl sea 420,000 @y
el 5a 254 o3l GRY( B,
il [Ruofl SR - 16 v 2AL | Rl AR B0 ey e, 31-03-2019-
(Sall 23 3 28 A aveudl,

(3 ourdly [Gauell DRt~ 10 vy UHA)A €2l (Event to be Adjusted) 244

[t 329t 4241 (Event not 1o be Adjusted) Belezil ARA YA,
@) eRdld [Gauell Wkgi-16 yred Frasd, 4l Y v vl AU YaAgu

X2 53 (Disclosure) e St 7 (2uit) werell 2vgudl
OE-133

|
R P.T.O. |



(B) 638U

()

(2)

(3)

4

&)

3
. | "
AR AN Rse el 1Rl [AseH H-E &L (ﬂé\tzt_:l: 'l); . el
s il 2t (&, g sl 2l (@ A 9% AL EX

\ )
22 Al 24N B. 21l 308l Al -l st a3 Ad gallagl ?

(A)  ulepal i
B) [t uega ol

C) 2 Ul 81 A .
Eu; wrduedl didlu ues) wig old 2le (Re2R gRL RatodlAl il udel

21 RO HALH] UAE s AL US| 58 H2AL IR ?

(A) AHEYA U2l
(B) (Gt AHI ) 2L

(C) =5 4R S B
olrdlt Rauell BRaL16 Horol Blasdinl Mo dviael @ els-8l By

451 Vid GuiR 8.

(A)  Agl--{sdlr

(B)  A-tid A QHIRL

(C) AN S AR ‘

MR Rauell WRel-16 M 8L £ Duia-il Gl Healis-2ll udl A5l
BLEETETUR '

(A)  A5l-{534

(BY  AIHA A AuR]

(€)' AL M) Sl AL

?a%qlc-lvu AWHPUAL YESIAL AR @01, Raiedl DRt AR Ag) 467
(A)  Clrdld (Rl ©Re1-10

(B) eliReld [Rutedl wREL-1

©) =8 4R

4.0 (A els suill 2 ciredla Ratell Wkel (Ind.AS) Hovol :
}13[3]5;@ AHNAL ) ‘i EQQ’Q: 5]3'[&“; "'ll‘{F:S\l B

OE-133

2|

A1t UAAL i 24 - Rl A Q)
(D) ol @R 4 ga 500 53y

K12l W2 E35-1 100 AR g

: . . (&4 50000 2

:ﬁ:i;ﬂa) {v@ sul. WL sl B g1 o Al 2suA, YAl
\ ; aa:ﬁ A 6. Aeh £35 A 2yt qerell B 2 1S g1y 6.

IR AR AU 0 DA 1 v g

(a) ';;n: ;i;qﬂ\?ﬁ\:{sﬁra 6% 2401 et U e 54 sy
e AR Bledl 243 JQ) U2 22D 83 9 148,
4

14



(2)

(3)

4)

(n

(4)

(%)

OE-133

(4
Hollud uatsiRAl ek BH2d 1) 7 dolfid wasRIgR R
(el Wiz 24 A sl wsendl.
curclld [Luoll Wizel 38 yoro v R ARAISR L BL g5l @il
(B) 635 WH W2 0a [Asediizll all [ 6: SLSUEL AR 3
U 2 q

(b)  ollm ¥ sm udl iaere 656 A 4 wmuouou M e
AU % s AL L4 B AL Bl AP AL 685 I,

(©) Alow ANAL DA WA 93% SHUE R dmel v (dseul G sdl,

Bl aufedl wxell 3s ad w2 salaudl aum 2L Wal el wet ey @, -

il\(sml UHALY AL

MR (& AL lUAL [l waell 638 ws-ALESGAZLRAL 1dls swuell 3l -

(Q1a Azl Wy
AT R0 AL d el ez a4 2R 5.00,000
"B 25 Al dal ol e £6adl 1R 1,00.000 ¢
“CN TS Al dal el e 6421 A 6.00,000
ASUSIAL 4N 2018-19 AL 54AlAL 53 WAL AL T 16,00, W a2 “
M 5Ret Uiz (s[4 7 70,000 e, s33=1Al aa‘?)

M 20

Rl (Guell wre- 102 il R Ut WR 2ralRel

%2
(A) W&~y
(B)‘s A RAUR
g d
&

HIRGL-24 Horod Al 21 S| 8Ll Al watsR A2l 2

)
(
ﬁ ARIMSAR — (B) 28 Y[Hur (C) wiLoid
3) T eurdlu ool 1iRe1-38 Horo A1 18| 56 2eey Fasd § 9
(

A) s wal
(B) HEL sk
(C) sl 518 AR
e zels suiell il 2A4@ B, i Yot AUEITES
(A) Uy AR
(B) Heilda (a7 QR
(C) AL s10 A%
URels 53l et Mrdld Rauoll Mizel (Ind. AS) I 24) DGR,
(A) Al [Sauod viRe20
(B) ezl (S vizel-33
(C) 2 s| sl AR

5 P.T.0.



Seat No. :

OE-133

October-2019
M.Com., Sem.-11I
305 (EA/EE) : Corporate Fin. Reporting
(New Course)

Time : 2:30 Hours) [Max. M"ks ¥
I.- (A) Define Corporate Financial Reporting and explain in details to wheim and how i
is useful. )
OR

Give answer of the following questions:
(1)  Discuss the characteristics of Corporate Finangi
(2)  Discuss the objectives of Corporate Financ
(B) Select correct alternative out of alternatiye gi
(1) “The computation of depregi n
assumption.
(A) Conservatis
(B) Matchi
O)PAc
(D)

)
(2) ichiof ing are basic elements of financial statements ?
etsand Liabilities (B) Income and Expenditure
(C ity (owner’s fund) (D) All of above
ich of the following are essential

qualities of good financial reports ?
(A) Faithful (B) Full Disclosure

(C) Factual (D) All of above
(4) Indian Corporate Accounts are regulated by which of the followings ?
(A) Indian Companies Act (B) Professional bodies
(C) Regulatory bodies (D) All of above
(5)  Which of the following is included to explain the concept of true and fair ?
(A)  Actually correct financial information
(B)  Exclusion of material misstatements
(C)  Prepared by competent authority
(D)  All of above
(6) SEBIis

(A) Department of Ministry of Commerce.
(B) Public company

(C)  Stock exchange

(D) Regulatory body

o
7
7

stion¢ (Any Four) 4
assets” 1s an example of
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(]

(A) "_Vha"_ 's Mandatory and Voluntary disclosure ? Discuss the characteristics and
significance of Mandatory disclosures. 14

OR
Give answer of the following questions:

(1) Prepare format of “Statement of profit and loss™ as per schedule - 11 of the
Companies Act-2013.

(2)  Explain difference between Mandatory and Voluntary disclosure. 7
(B)  Select correct alternative out of alternative given for each question : (Any Four)

(1) Which of the following Indian Accounting Standard (Ind.AS) rg Le
Cash flow Statement ? ‘ ‘

(A)  Indian Accounting Standard (Ind.AS)-7

(B) Indian Accounting Standard (Ind.AS)-08 ‘
(C)  Indian Accounting Standard (Ind.A
(D) Indian Accounting Standard (Ifil. AS) 12

in

(2)  Which of the following is i ry quantitative disclosure ?
(A) Cashflow S
(C) Valu

Whic
!
)
e format of __ disclosure is decided as per Companies Act.
(A) Mandatory
(B) Voluntary
(C) Mandatory and Voluntary both

(D) None of these

Fund flow Statement

t (D) Human Resource Accounting
the following i onent of voluntary qualitative disclosure ?
ntal Reporting  (B) Directors’ Report

3
flation Accounting (D) Economic Value Added
(

(5)  Description of the principal activities of the company is a part of

(A) Directors’ Report (B) Value Added Report
(C) Auditors’ Report (D) All of above
(6) is not Mandatory disclosure.,
(A) Fund flow Statement (B) Balance Sheet

(C)  Statement of Profit and Loss (D) Auditors’ Report

OE-133 7 P.T.O



3) is applic resentation of
3. (A) Which Indian Accounting Standard (Ind.AS) is appln.::)l; ;'(;rl; e oneral
N ‘ Financial Statement ? State ils objectives and :n:'ope.snnil i p
features of Financial Statement as per this Accountng St |

OR

Give answer of the following questions : (Any two)

(1) Ayushi Ltd. has purchase a plant on 1-04-2018, which 'estimated l:fe l'S
6 year. Cost of capital of the investment is 10%. Other details are as below :

14

Sr.No Particular Am:unt

I |Amount paid to supplier for purchase of the plan‘+
faxes

(g9

Transportation cost

3 |Cost of installation of the plant 5,00,000

4 |[Cost of training to employe 1,50,000
production

3,00,000

50,000

3,00,000

ove information determine cost of capitalization of the plant as
perind’ AS: 16

) *"Bina Ltd. is doing business of steel supplier. On 1-04-18 the company has
planned to construct a new building for the business, which is partially
based on steel frames. After the end of the year, total 2500 kilograms steel
were used in the building and addition to these, 300 kilograms steel were
wasted due to defective design. The company sells this steel to its customers
at ¥ 150 per kilogram, in which profit @ 20% on selling price is included.

The accountant of the company has added % 4,20.000 as a total amount of
steel used in the cost of new building on 31-03-2019.

Give your opinion as per Ind.AS: 16 about it and state what will be
accounting treatment on 31-03-2019 for this.

(3) Explain “Event to be adjusted” and “Event not to be adjusted” with
illustration as per Ind. As :10

(4) State any 7 (seven) point related ¢

0 Disclosure of Property, Plant and
Equipments in the financial statement

as per Ind. As: 16.

OE-133 8



(B) Select correct alternativ

¢ out of alternative given for each question ; (Any Three) 3
()

Holding company Yug Ltd. gives a loan payable on demand to its own

Subsidiary company Arya Ltd. at 9% interest rate. How would subsidiary
company disclose this in balance sheet ?

(A)  Asacurrent liability

(B)  As a non-current liability
(C) None of these

(2)  Loss due to event of fire after date of balance sheet, but before approval of

accounts by board of directors consider as which of the following event ?
(A) Event to be adjusted

(B)  Event not to be adjusted ©
(C) None of these P

(3) As per Indian Accounting Standard-16, loss due to‘rs ime do
revaluation is debited to account. ‘

(A) Profit and loss
(B) Reserve and surplus
(C) None of these

(4)  As per Indian Accounting S
revaluation is credited to

: (A) Profit and loss
{ (B) Reserve

rp
) Nong ef
L (5) oﬁan' re
ollowi
AV Accounting Standard-10
)

event after the reporting period is which of
e Indian Accounting Standard- 1

(C) None of these
(A) Explain the objectives, SCOpe, measureme
Accounting Standard for earning per share. 14
OR

Give answer of the following questions : (Any two)

(1) Bina Ltd. grants 100 share options to each of its 500 employees (total S0000
share options). Each grant is conditional upon the employee w

orking for the
entity over the next three years. The entity estimates that the fair value of
each share option is ¥ 15.

ofit to stbsequent upward

nt and disclosure as per Indian

On the basis of a weighted average probability, the entity estimates as
below :

(a)  First year: Entity estimates that 5 % of to

during the three-year period and therefore
share options.

tal employees will leave
forfeit their rights to the

OE-133 9
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(2)

(3)
(4)

(1)

(B) Select correct alternative out of. al
As per Indian Accofinting S
whic the followi
] e
rtible Debenture

(4)

(5)

(b) Second year: The entity revises ils cstimqlc that 3 % of | l:;tg:
employees will leave during the three year period and therefore forte
their nghts to the share options. . |

(c) At the end of the third year 93% of total employee actually vested
their share option. " :

From the above information calculate the employec;:s penctlt expenses for

each year and pass the Journal entries in the books of Bina Lid. |

From the following information of Dhanlaxmi Ltd, calculate EPS for each

type of the Equity shares :

Particulars No. of shares
“A” Equity share of 10 each fully paid up 5,00,000 ‘
"B Equity share of R 25 each fully paid up 1,00,000
“C” Equity share of ¥ 5 each fully paid up 6,00,

The profit before tax of the company for the F.Y:

¥ 16,00,000. The preference share dividend declared @f t
was T 70,000, Tax Rate@ 30%.
What is Related Party transaction ? Explain s c

24 for Related Party Disclosure.

Write short note on Disclosu
Accounting Standard-38

Standard-

e Assets as

1 per Indian
e or each question : (Any Three)
02 share base payment is depend on

ian Accounting Standard-24, which of the following is not
party ?
Fund Provider (B) Trade Unions  (C) Both of these

As per Indian Accounting Standard-38, which of the follow
Intangible asset ?

(A) Preliminary Expenses

(B) Marketing right

(C) None of these

Diluted EPS is calculated, when there is
(A) Preference Share

(B) Potential Equity Share

(C) None of these

Accounting Standard relates to Eaming per Share is which of the following ?
(A) Indian Accounting Standard-20

(B) Indian Accounting Standard-33
(C) None of these

ing is an

in the capital structure,

10
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Time : 2: 3 Hours)

L.~ (A) Define Corporate Financial Reporting and explain in details to whom andfho
15 useful,

OE-133

Give answer of the following questions:

(1)

(n

Discuss the characteristics of Corporate Financial
(2)  Discuss the objectives of Corporate Financi ;
(B) Select correct alternative out of alternative giv h |

(5)

(6)
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OR "

\s

: (Any Four)
example of

(C) Accrual

) Goi
ichef the foll elements of financial statements ?
( tsand Liabilities (B) Income and Expenditure
& (owner's fund) (D) All of above

of the following are essential qualities of good financial reports ?
) Faithful (B) Full Disclosure

(C) Factual (D) All of above

[ndian Corporate Accounts are regulated by which of the followings ?
(A) Indian Companies Act (B)  Professional bodies

(C) Regulatory bodies (D) All of above

Which of the following is included to explain the concept of true and fair ?
(A)  Actually correct financial information

(B) Exclusion of material misstatements

(C) Prepared by competent authority

(D) All of above

SEBI is

(A) Department of Ministry of Commerce.
(B) Public company

(C) Stock exchange

(D)  Regulatory pody

“The computation of depreciation Ine
assumption.
(A) Conservatism
(B) Marching of Re d
g ic

14

[Max. Marks : 70
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2. (A) What is Mandato : :
- ry and Voluntary disclosure ? Discuss the Ch: isti
Significance of Mandatory disclosures. % Characieristics and 14
OR
I

gl)ve arl’iswer of the following questions :
repare format of “Statement of profit and loss” as per schedule - III of the
. Companies Act-2013. 7
®) (S"C)KECIECJ:)I:'::E: d]lf fereqce between Mand_ator){ and Voluntary disf:losure. 7
' a‘temauve ou‘t of alternative given for each question : (Any Four) 4
ich of the following Accounting Standard (AS) relates to Cash flow
Statement ?
(A)  Accounting Standard (AS)-3
(B)  Accounting Standard (AS)-8
(C)  Accounting Standard (AS)-10
(D). Accounting Standard (AS)-12
(2)  Which of the following is included in mandatory quantitafive disclosure ? :
(A) Cash flow Statement (B) Fund flow Statement
(C) Value Added Statement (D) Humian Resource Accounting
(3)  Which of the following is a componentiof voluntaryqualitativé disclosure ?
(A) Environmental Reporting ¢ (B) | Diréctors“Report
(C) Inflation Accounting (D) Ecopomic Value Added
(4) The format of ___ disclosure is decidéd as per Companies Act.
(A) Mandatory :
(B) Voluntary :
(C) Mandatory and Volufitaryboth
(D) \ None of these™
(5" Descriptiondf the principal activities of the company is a part of

(A) ' Directors’ Report (B) Value Added Report
: (C) Auditors’ Report (D) All of above
" (6)) _________isnotMandatory disclosure.
(A) Fund flow Statement (B) Balance Sheet

(C) Statement of Profit and Loss (D) Auditors’ Report

3¢ (A) Explain in details about Accounting Standard-10 for Property, Plant and
Equipments.
OR

Give answer of the following questions : (Any two)

(1) Yug Ltd had imported a machine from Germany for T 25,20,000 on
1-05-2018. On which custom duty @ 30% was paid. Port charge and octroi
was amounted T 1,00,000. An expert was invited from Germany for
installation of this machine, to whom fees and other expenses paid
2 2,00,000. On 1 June, 2018 a loan of ¥ 15,00,000 was taken for purchase
of the machine at interest rate of 10% per annum. Machine was started for
commercial use on 1* October, 2018.

Depreciation is charged as per straight line method at 10% per annum.
From the above details, calculate the following as per AS-10:

(i)  Original cost of the machine in the book of account.

(i) Depreciation of the machine for the year ending on 31-03-2018.
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(2) From the following information of Arya Ltd, calculate EPS each type of the

shares :

Particulars No. of shares
“A” Equity share of ¥ 10 each fully paid up 5.00.000
“B" Equity share of 25 each fully paid up 1,00,000
“C" Equity share of ¥5 each fully paid up 6,00.000

The profit before tax of the company for the FY: 2018-19 was
2 16.00,000. The declared preference share dividend of the F.Y 2018-19
was 2 70.000, Tax Rate @ 30%.

(3) Explain Accounting standard-1: Disclosure of Accounting Policies.

(4) Explain basic EPS and potential equity share with illustration as &’ A
(B) State whether following statements are “True” or “False™ : 3 A|‘three) 3

(1)  Accounting standard- 10 is applicable to Goodwill

(2) Convertible debentures are not used for calculating dilute PS‘

(3) AS-18 not applies to financial institute

(4) “Going Concern"” is fundamental acco umptio

(5) As per Accounting Standard-18_subsidi 0 1S ed to be a related

party.

4. (A) Whatis Segment Reporting © jective and explain bases of the Segment

14

ive answe ollowing questions :
in"Limitations of Segment Reporting 7
) 0
re

the following information determine Reportable Segments and Non

portable segments : v/
Particulars Segments  (Amount in ? lakhs)
A B C D E F
Segment Profit-loss 600 | 150 | 635

(270) | 400 620
Segment Revenue 4300 | 1500 | 5500 | 1700 | 1000 | 3500

Segment Assets 6000 | 2000 | 8000 | 2400 | 1200 | 5000

(B) State whether following statements are “True” or “False” : (Any three)

(1) Profit on sales of investment is not included in segment revenue,

(2) Preliminary expenses are included in segment expenses.
(3)  AS-18 deals with Segment reporting.
4

If the segmex_n's assets are 10% or more than the total assets of all segments,
the segment is classified as reportable se gment.

&)

As per Companies Act-2013 segment reporting is mandatory in India.
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